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1. In a follow up study that lasted for 40 years, 500 women were exposed to passive smoking and 450 were not exposed. Among the 500 that were exposed 25 developed lung cancer. And among the 450 that were not exposed to passive smoking 7 developed lung cancer.
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Total :                                32                                                              918 

1. Calculate the risk of lung cancer in the group of women that was exposed to passive smoking.

                                        Re (Risk expose ) = 25 \ 500
                                                                     =  0.05 . 
2. Calculate the risk of lung cancer in the group of women who were not exposed to passive smoking.
                                         Ro (Risk non expose)  =  7 \ 450

                                                                           =  0.016 .

3. Calculate the relative risk for the association between passive smoking and lung cancer.

                                      RR = Re \ Ro 

                                            =  0.05 \ 0,016 

                                            = 3.125 . 
2. the following table shows the results of a case control study that evaluated the relationship between coffee drinking and pancreatic cancer please calculate the ODDS RATIO ( OR) and conclude.
	Exposure
( coffee drinking)
	Pancreatic cancer

Cases
	controls

	Yes
	 A    100
	B   80

	No
	C    80
	D 120

	
	
	


 OR  = odds of exposure among caused \ odds of exposure among controls 

  OR = ad \ cb 
         = 100 * 120  \   80*80  

         =   12000 \ 6400  

         =   1.875  
        = 1.88 -1 = 0.88  *100% = 88% 

 Positive association . 

Lung cancer





Expose 








